HMY 360

EpyaoTtnpiaki Aoknon 4.1
Eicaywyn oToV TTpoypaHaTIoNd Twy Sockets

2KOTTOG TNG AOKNONG AUTAG €ival va 0ag OWOEI PIA TTPWTN ETTAQN JE TOV TTPOYPANPATIONO TWV
sockets Tou unix/linux. lNa v doknon autr Ba TTPETTEl va UAOTTOINOETE TIG OUO BIEPYQTIES
server Kal client TTou akoAouBouv. AQOoU TIG UNOTTOINCETE €GNYINOTE UE CUVTOMIA TI KAVEI N
KGBe wia. ETriong egnynote pe ouvtopia T KAvouv ol o KATw KANOEIG KaBWG Kal Ta opiouaTa
TTOU TTaipvel n KAOE pia.
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Server
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ncl ude <sys/types. h>
ncl ude <sys/tinme. h>
ncl ude <sys/socket. h>
ncl ude <netinet/in.h>
ncl ude <netdb. h>

ncl ude <uni std. h>
ncl ude <errno. h>
ncl ude <signal . h>
ncl ude <stdi o. h>

static void serve(int);

#defi ne PORT 6060

mai n( int argc, char **argv )

{
int |sd; /* Listening socket */
struct sockaddr in sin; /* Binding struct */
i nt sin_size=sizeof(sin);
i nt sd; /* Socket to accept new connexion */
/* Create listening socket */
if ( (lsd=socket(AF_I NET, SOCK_STREAM 0)) < 0 ) {
fprintf(stderr, "%: cannot create listening socket: ",
argv[0]);
perror(0);
exit(1l);
}
sin.sin famly = AF_| NET,;
sin.sin_port = ht ons( PORT) ;
sin.sin_addr.s_addr = htonl (I NADDR_ANY) ;
if ( bind(lsd, &sin, sin_size) <0 ) {
fprintf(stderr, "%: cannot bind |listening socket: ",
argv[0]);
perror(0);
exit(1);

}

/* Initiate a |listen queue */

if ( listen(lsd, 5 <0 ) {
fprintf(stderr, "%: cannot |listen on socket: ", argv[O0]);
perror(0);
exit(1l);



voi d

/* Take care of the SIGPIPE signal - ignore it */
signal (SIGPIPE, SIGIGN);

while (1) {
if ( (sd=accept(lsd, &sin, &sin_size)) <0)
exit(errno);
serve(sd);
shut down(sd, 2);
cl ose(sd);

serve(int sd)

tinme_t local tineg;
char *tinme_string;

time(& ocal _tine);
time_string = ctine(& ocal __tine);

wite(sd, tine_string, strlen(tine_string));

return;



Client

#i ncl ude <stdi o. h>

#i ncl ude <sys/types. h>

#i ncl ude <sys/socket. h>
#i ncl ude <netinet/in.h>
#i ncl ude <net db. h>

#def i ne BUFSI ZE 1024
#def i ne SERVER _PORT 6060

main( int argc, char **argv )

{
i nt sd,; /* Socket descriptor */
struct sockaddr _in server; /* Server to connect */
struct hostent *server host; /* Host info */
char buf[ BUFSI ZE] ;
i nt nbytes;

/* Create socket */

I f ( (sd=socket (AF_I NET, SOCK_STREAM 0)) < 0 ) {
fprintf(stderr, "%: cannot create socket: ", argv[0]);
perror(0);
exit(1l);

}

/* Get info on host */

if ( (server_host=gethostbynanme(argv[1])) == NULL ) {
fprintf(stderr, "%: unknown host %\n", argv[O], argv[1]);
exit(l);

}

/* Set up struct sockaddr _in */

server.sin_famly = AF_I NET,

server.sin_port = SERVER PORT;

bcopy((char*)server _host->h_addr, (char*)&server.sin_addr,
server _host->h_| ength);

/* Connect */

if ( connect(sd, &server, sizeof(server)) <0 ) {
fprintf(stderr, "%: cannot connect to server: ", argv[O0]);
perror(0);
exit(1);

}

[* CGet date */

if ( (nbytes=read(sd, buf, BUFSIZE-1)) <= 0 ) {
fprintf(stderr, "%: read failed: ", argv[O0]);
perror(0);



exit(1l);
buf [ nbytes] = O;
printf("Date on host % is: %\n", argv[1l], buf);

cl ose(sd);
exit(0);



